Rational 
$$\frac{x+5}{10} = \frac{3x}{30}$$
 ratios

9.2 Exponent Rules
$$2^{5} \cdot 2^{3} = 2^{8}$$

$$\frac{7c^{5}}{2!a^{3}} = \frac{a^{2}}{3} \text{ or } \frac{1}{3}a^{2}$$

$$\frac{(2c^{5}b^{3})^{2}}{4c^{2}b^{3}} = \frac{2^{2}a^{10}b^{6}}{4a^{2}b^{3}} = \frac{b^{9}}{a^{6}}$$

9.3 Solving Rational Equations
$$\frac{x+2}{18} \times \frac{x}{10}$$

$$10(x+2) = 18x$$

$$10x+20 = 18x$$

$$\frac{26}{8} = \frac{8x}{8}$$

$$2.5 = x$$

$$\frac{x}{x-z} + \frac{30}{x+z} = 9 \quad (x-z)(x+z)$$

$$\frac{x(x+z)}{(x-z)(x+z)} + \frac{36(x-z)}{(x-2)(x+z)} = \frac{9(x-z)(x+z)}{(x-z)(x+z)} \quad x^2-4$$

$$x^2 + 2x + 30x - 60 = 9x^2 - 36$$

$$0 = 8(x^2 - 4x + 3)$$

$$0 = 8(x - 3)(x - 1)$$

$$y = 3_1$$

Between 1 and 3 root 2  
Double 
$$y = (x+1)^2(x-2)$$
  
Triple  $y = (x-5)^3$   
 $y = (x-1)(x+2)(x+7)$ 

$$y=(x+1)(x-1)(x-2)$$
 $y=(x+1)(x-1)^2$ 
 $y=(x+1)(x-1)^2$ 

$$y = 2x^{3} + 10x^{2} + 12x$$

$$y = 2x(x^{2} + 5x + 4)$$

$$y = 2x(x + 3)(x + 2)$$

X = -1, -2, 5

$$\chi = -3, -2, 0$$

$$y = x^{2} - 2x + 7$$

$$q = 1 \quad b = -2 \quad c = 7$$

$$2 \pm \sqrt{4 - 28}$$

$$2 \pm \sqrt{-24}$$

$$2 \pm \sqrt{-24}$$

$$2 \pm \sqrt{2}i$$

$$2 \pm \sqrt{8}i$$

$$2 \pm \sqrt{8}i$$

## 9. 6 Parametrice Equations

Solve for +, then substitute

Solve for 
$$T$$
, then substitute  
 $x=t+3$   $y=2t+5$   
 $x-3=t$   $y=2(x-3)+5$   
 $y=2x-4+5$   
 $y=2x-1$